HBEERIJILIKE BSEAURY—HS5T

ZL—H8 : 20154058 15H BLAR—IL 1.2.3.4.5.6.7.8.9. 1.2.3.4.5.6.7.8.9.
BMBARX A TR T BE=OUT * % ok ok % k =N X Ok kX % %
N—D &t N—T&t N—T&t
B 32 K £ 1 2|1 3] 4 | GROSS | HDCP NET JIE {2 K £ 1 21 3] 4 | GROSS | HDCP NET JIE {2 K £ 1 2|1 3] 4 | GROSS | HDCP NET

1 [ARER EAKER 38 |36 14 3.6 70.4 51 |[&H B8 45 |1 44 89 14. 4 14.6 101 |uisgs #nEB 49 143 92 15.6 76.4
2 |&F = 40 |40 80 9.6 70. 4 52 |HLE X% 50 |45 95 20.4 74.6 102 |Bx BXA 51 | 47 98 21.6 76. 4
3 [ KRR = 41 |36 11 6.0 7.0 53 |3 BLAFOD 47 |48 95 20.4 74. 6 103 | XKiZE [EmR 50 (48 98 21.6 76. 4
4 )8 & 45 |48 93 21.6 1.4 54 =4 ZF|A 45 |43 88 13.2 74. 8 104 |2k &= 49 149 98 21.6 76. 4
5 [AE &X 46 |40 86 14. 4 71.6 55 |l FF= 46 |42 88 13.2 74.8 105 |38y ®HE b5 149 104 21.6 76.4
6 |FHA H— 43 |43 86 14. 4 71.6 56 |#+ ERBA 38 143 81 6.0 75.0 106 (lLF =B 40 |45 85 8.4 76.6
1 BAH FTEX 41 |45 86 14. 4 71.6 57 |[£H# #— 44 143 87 12.0 75.0 107 |#EF BiEX 44 1 41 85 8.4 76.6
8 |2A E=x 46 | 46 92 20. 4 71.6 58 |BkHE % 46 | 41 87 12.0 75.0 108 | B 42 143 85 8.4 76.6
9 l¥w IEE 38 |41 79 1.2 71.8 59 [FIk FxIE 44 149 93 18.0 75.0 109 |BEH JX 40 |45 85 8.4 76.6
10 |[Hf K— 43 | 41 84 12.0 72.0 60 |58 Bm 47 |46 93 18.0 75.0 110 [E)I]  Efhf 47 | 44 91 14. 4 76.6
11 [+ =4F 47 |49 96 24.0 712.0 61 | KR #F 47 |52 99 24.0 75.0 1M | e fER 47 144 91 14. 4 76.6
12 |58 EEiH 36 |41 71 4.8 12.2 62 |ix BEEX 50 |49 99 24.0 75.0 12 [N ERXR 50 |47 97 20.4 76.6
13 |BKR IE 42 |1 83 10. 8 12.2 63 |¥HE KE 49 |50 99 24.0 75.0 113 | KLt F{= 47 150 97 20.4 76.6
14 |dt4&F HHF 44 |44 88 15.6 12. 4 64 | K2 &F 51 |54 105 30.0 75.0 114 (48 ®= 43 | 41 84 1.2 76.8
15 (2@ RBRE 37 |37 74 1.2 12.8 65 |EH & 48 |44 92 16. 8 15.2 115 |&®8 = 42 42 84 1.2 76.8
16 | HE 43 |37 80 1.2 72.8 66 |¥aH IE 45 147 92 16. 8 75.2 116 |EAX HaE 42 142 84 1.2 76.8
17 |H#F EA 41 139 80 1.2 12.8 67 |BRIR A8 49 |43 92 16. 8 15.2 117 (Il EH 45 | 51 96 19.2 76.8
18 | B 43 |43 86 13.2 72.8 68 | &= 44 148 92 16. 8 75.2 118 | K& FE 45 |51 96 19.2 76.8
19 [JII&T FHEZ 43 |42 85 12.0 713.0 69 |B% 1& 51 147 98 22.8 15.2 119 |FAE BFEC 39 |44 83 6.0 71.0
20 [pF A— 39 [ 46 85 12.0 73.0 70 [lUAX  FOF 53 | 51 104 28.8 75.2 120 |db&F  ZE 45 150 95 18.0 77.0
21 |BEKR AAl 40 | 38 78 4.8 713.2 | = tEkE 56 |48 104 28.8 15.2 121 (2% &HKF b3 |48 101 24.0 77.0
22 /M F09T 40 | 37 71 3.6 13.4 12 5+ &5 41 |44 85 9.6 75.4 122 |5 &5 54 |47 101 24.0 77.0
23 | KR EX 41 |42 83 9.6 13.4 13 [lWER £Fx 41 |44 85 9.6 715.4 123 |H#FF Eif 46 |48 94 16. 8 11.2
24 |F/FAT ZE 34 136 70 -3.6 73.6 14 1BH F— 45 140 85 9.6 75.4 124 |apk i&— 46 |48 94 16. 8 11.2
25 |AJII BE 41 |41 82 8.4 713.6 15 |[lB8& #hsh 45 | 46 91 15.6 715.4 125 (/N HE— 50 |50 100 22.8 11.2
26 | B #® 41 | 47 88 14. 4 73.6 16 |HH &FHA 57 |52 109 33.6 75. 4 126 ([AREH EHZxE 47 |53 100 22.8 11.2
27 |2 =HE 45 |43 88 14. 4 13.6 17 |78 g 40 | 38 18 2.4 75.6 127 &R HER 51 |55 106 28.8 11.2
28 | &k E— 48 | 46 94 20. 4 73.6 18 |RlR Ei# 43 |41 84 8.4 75.6 128 (&) R 48 |58 106 28.8 11.2
29 |2 mA 45 149 94 20.4 13.6 19 |48 A*0 42 |42 84 8.4 75.6 129 |k &= 55 | 57 112 34.8 11.2
30 [JEH ZEER 41 |39 80 6.0 74.0 80 |#kH EBE 47 149 96 20. 4 75.6 130 {52 K BE 39 |42 81 3.6 71. 4
31 |alll F=: 40 |40 80 6.0 74.0 81 |AH 754 47 |49 96 20.4 75.6 131 |R*iE Mz 41 |46 87 9.6 11.4
32 |te@ 2 39 |40 79 4.8 74.2 82 |FNl EH 35 |42 77 1.2 75.8 132 |/BH f@2— 48 |45 93 15.6 71. 4
B |HE H— 43 |42 85 10. 8 14.2 83 [f1E BAx 39 (44 83 1.2 75.8 133 | KH Bt 47 |46 93 15.6 17. 4
4 (&0 #EB 40 |45 85 10. 8 74.2 84 |{RFEE fH— 44 |45 89 13.2 75.8 134 |8% #£X 51 |48 99 21.6 71. 4
35 [FRE HEF 43 142 85 10. 8 14.2 85 [iE/K fh= 45 |44 89 13.2 75.8 135 |5 E— 44 148 92 14. 4 17.6
36 [feH HEF 43 |42 85 10. 8 74.2 86 |hnEk 1XHA 50 |45 95 19.2 75.8 136 |¥5—6 41 |51 92 14. 4 77.6
37 [l FREB 46 |45 91 16. 8 14.2 87 | A =B 49 |46 95 19.2 75.8 137 |iI# BE— 50 |48 98 20.4 17.6
38 |HEH FEE 39 139 78 3.6 74. 4 88 |&%F REX 43 |45 88 12.0 76.0 138 |7k =X 52 |52 104 26. 4 77.6
39 |F)Il EE 40 | 38 78 3.6 14. 4 89 [lUA HME# 46 |48 94 18.0 76.0 139 [k IER 54 |50 104 26.4 17.6
40 [hE& KA 40 | 38 78 3.6 74. 4 90 |FHA HRER 44 150 94 18.0 76.0 140 (1 £ 41 [ 44 85 1.2 77.8
41 = HBEX 47 |37 84 9.6 14. 4 91 |XKFE E#0 47 |53 100 24.0 76.0 141 |k EAR 41 |44 85 1.2 77.8
422 |ENh FA 43 |1 84 9.6 14. 4 92 |dbJIl  FOi b8 |54 112 36.0 76.0 142 |&HFT WF 41 |44 85 1.2 11.8
43 |%ES A 47 143 90 15.6 14. 4 93 [#BX EhE&E 49 |50 99 22.8 76.2 143 |FH R 44 147 91 13.2 71.8
4 [l EE 46 | 44 90 15.6 14. 4 9 [#tE FIEK b1 148 99 22.8 76.2 144 |Fx wB 47 |50 97/ 19.2 11.8
45 |de) Fl=E 46 | 44 90 15.6 14. 4 95 (EM@E IR 49 |50 99 22.8 76.2 145 |lu%t = 47 |50 97 19.2 77.8
46 (EF EBE&E 49 | 47 96 21.6 14. 4 9 |&k =8 b8 |47 105 28.8 76.2 146 | KR BIE 47 149 96 18.0 78.0
47 (BZ KB 42 |41 83 8.4 74.6 97 [FE 3= 55 150 105 28.8 76.2 147 1Bk 1B 48 |48 96 18.0 78.0
48 IO %W 44 139 83 8.4 74.6 9 |5 =EF b3 |52 105 28.8 76.2 148 (BkO #RFEX b5 | 4] 102 24.0 718.0
49 | K% ffE— 41 142 83 8.4 74.6 9 |KE EB 45 | 41 86 9.6 76.4 149 (i3 &F 45 | 44 89 10. 8 78.2
50 |fFE k= 44 139 83 8.4 714.6 100 [ARHE  #FR 46 140 86 9.6 76. 4 150 |5t =8 45 | 44 89 10. 8 18.2

ait 217N 1/2 2015/5/15 17:43




HBEERIJILIKE BSEAURY—HS5T

ZL—H8 : 20154058 15H BLAR—IL 1.2.3.4.5.6.7.8.9. 1.2.3.4.5.6.7.8.9.
BMEAR A TIRYT BOUT * ok ok ok ok X HIN kK ok ok ok ok
N—25t N—T &t N—T&t
B 32 K £ 1 2|1 3] 4 | GROSS | HDCP NET JIE {2 K £ 1 21 3] 4 | GROSS | HDCP NET JIE {2 K £ 1 2|1 3] 4 | GROSS | HDCP NET
151 [ER #x 44 |45 89 10. 8 18.2 201 |20 £t 49 |53 102 19.2 82.8
152 |BEH & 50 |45 95 16. 8 18.2 202 |=lF  ARER 61 |59 120 37.2 82.8
153 [/hk2 & 49 |46 95 16. 8 18.2 203 |HFAX B— 59 |54 113 30.0 83.0
154 |luAX 4447 54 |53 107 28.8 78.2 204 |TB EE 59 | 60 119 36.0 83.0
155 |&J)II EBAA 41 |53 94 15.6 18.4 205 |EEH i 50 |56 106 22.8 83.2
156 | &M = 49 |45 94 15.6 78. 4 206 |t AEF 55 | 51 106 22.8 83.2
157 |#18 H5 57 |49 106 27.6 18.4 207 [;hE HF 50 | 61 111 21.6 83.4
158 |[#tH RA 55 |57 112 33.6 78. 4 208 |HEH %7 53 |58 111 27.6 83.4
159 (BE %5 54 |58 112 33.6 18.4 209 |Eaft X 58 |63 121 31.2 83.8
160 |dtA HREF 51 [48 99 20. 4 78.6 210 |FEE  #h— 55 [ 58 113 28.8 84.2
161 |iIFH A7 48 |50 98 19.2 78.8 211 |d& B&F b8 |55 113 28.8 84.2
162 |3ER" kK 49 |49 98 19.2 78.8 212 |;8 E 55 | 47 102 16. 8 85.2
163 |t FIE 48 |43 91 12.0 79.0 213 [ FFk 66 |59 125 39.6 85.4
164 [#af = 48 |43 91 12.0 79.0 214 |1 K BE 61 |52 113 26.4 86.6
165 |f&f 1EF 59 |56 115 36.0 79.0 215 [HEE X 63 | 64 121 40.0 87.0
166 (LUAX RIBER 51 |45 96 16. 8 79.2 216 [EA E— 60 |63 123 34.8 88.2
167 (Bl EAF 48 |48 96 16. 8 79.2 217 |22 1EHH 63 | 64 121 34.8 92.2
168 |i=fk —af 47 |48 95 15.6 79.4
169 [/hF EHF 56 |57 113 33.6 719.4
170 48K f2IR 45 149 94 14. 4 79.6
17 [hfE EX 47 |1 47 94 14. 4 79.6
172 (L fiF 53 |53 106 26.4 79.6
173 | KR =47 47 |58 105 25.2 79.8
174 |2l ES 61 |56 117 37.2 79.8
175 (WX =i 48 |50 98 18.0 80.0
176 |2R % 50 |48 98 18.0 80.0
177 |8 X=B&F 49 |55 104 24.0 80.0
178 |FHT = 55 [ 55 110 30.0 80.0
179 [Ea%f BEAsE 56 |54 110 30.0 80.0
180 (kA HEF 55 [ 55 110 30.0 80.0
181 |&K FEh 41 150 91 10. 8 80.2
182 |BRA {5 54 |48 102 21.6 80. 4
183 ({EE&H i 45 |44 89 8.4 80.6
184 |*\EB Z0D-F 52 |55 107 26. 4 80.6
185 [aH BF 57 | 56 113 32.4 80.6
186 |JIl L EEEK 50 |49 99 18.0 81.0
187 |BEEH BEX 50 |55 105 24.0 81.0
188 | E &E— 51 |52 103 21.6 81.4
189 |#2H LOA 42 |48 90 8.4 81.6
190 [FE #£28 59 |55 114 32. 4 81.6
191 |30 R4 58 |62 120 38.4 81.6
192 |#%HB {Esh 51 [ 50 101 19.2 81.8
193 |’kEH ZEZ2 49 |45 94 12.0 82.0
194 [&ZHA =% 48 |52 100 18.0 82.0
195 |Bk2 BA 48 | 45 93 10. 8 82.2
196 [E2H FIE 47 |52 99 16. 8 82.2
197 |AR &t 51 | 60 11 28.8 82.2
198 |B2F &= 52 |59 111 28.8 82.2
199 |=81 HE 47 |50 97 14. 4 82.6
200 |{d)1l BRER 61 [54 115 32.4 82.6

ait 217N 2/2 2015/5/15 17:43




